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Spring Test 3

Name: Class Date
1 |1 6+12= 2| 30+10+10 =
3 =10X3 4| 1X0=
S|1+4+9= 6 | 299 +10=
7 X1=2 8 | 24+46=
9 |37- =24 10| 1 of9=
" —8=1754 12| 634 —322 =
13 | 408 + = 478 19 =8X7
15 =7 X 11 16| £, 3 =
5 5
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Spring Test 3 (continued)

17 | 4 X500 = 18 | 3743 — 1000 =

19| 225 +25= 20 X6 =36

2 =52 X7 22| 9x2Xx3=

2 1 .3 _ _
23 st T = 29 =8X21 X5
25 | 1785 + 3969 = 26 =378 X6
27 | 5763 — 2759 = 28 =84+ 10
\
Total marks /28
J
+ 112 5|6]|8]13|16[23]25
- 9 | m 2|82
x 3|a|7|w|15]17]2]21|22]24]26
+ 19 | 28
. Fractions 10 16 | 23
How well did you do? Do "
ecimals
Colour the numbers of the —
questions you got correct. Missing numbers i I I I
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